LB1 Funktionale Zusammenhange: Logarithmus - Losungen

1. a) |gX=—3 X=1073:W

b) log, x =5

c) log: x=3%
64

d) logg x =-2 x=3%=1%
e) loggy x =1 x=647%= 1 __1 =5
8 64% %/6_4 -
f) log; x =7 x=g7:§§
9) log, x =1 x=(f =%
h) log, 27 = x > [y =27 x=-3,da ()°=3"=27
i) log, 81=—4 > x* =81 x=% da (1)*=3*=81
j) x=log; +logic  x=-1-1=22
2. a)lg(x-3)=3 > 10°=x-3 > x=1003
b) logs(1-2x) = > 5% =1-2x > x=-312
c) lg(x? -21) =2 > 10% =x2 - 21 > Xy, =£11
d) lg(x2-4x)=2 > 10% =x% - 4x > x;,=12198 x, =-8,198
e) Ig3+Igx =1g(1000-5x) = Ig(3x) =Ig(1000-5x) > 3x =1000 - 5x x=125
f) Igx =Iga—Igb > Igx=Ig2 > x=3
3b2 a’h?
g) lgx =3lga+2Ilgb—-4igc > ng—lg > X=—
avb
h) lgx = }lga+Zlgb-lgc > ng:lg%/gc\/B > X_%/_c\/_
) lg(x-1)+lg3=Ig(x> -1 > IglB(x—1))=lg(x® -1) > 3x-3=x>-1 > x=2 [x=1] entfallt
X 35 x 35
j) lgx—Ilg4 =1g35 -1 4) > lg—=I > Z= S x,=10 x,=-14
i) lgx-lg4 =Ig g(x +4) 94 9X+4 4 xid 1 2
k) 1 __3 =2 2> Igx-3-3lgx-3 =2(Igx+1)(Ilgx-3) > —2Igx =2(Igx)® —4Igx
lgx+1 Igx-3
> 2(Igx)®-2Igx=0 > Igx-(lgx—1)=0 > Igx =0 oder lgx-1=0 2> X;=1 x, =10
) Ig(x+1)% =1g2+Ig(x + ) +Ig(x = 1) > Ig(x+1)2 =Ig2(x +1)(x 1)) > (x+1)2 =2(x* -1)
> x2-2x-3=0 > X;=3 [x, = 1] entfallt
m) lg(x —2) - 71g4 = 11g125-Ig(x +1) > ng—gzzlg% > (x=2)-(x+1)=10 > x*-x-12=0

> X, =4 [x, =-3]entfallt

3. a) logy 205 = 4,845
b) log,5 10 = 2513
c) logg 345 = 3,261
d) logg 0,345 =~ 0,594
e) logys 23 = —1,202
f) loggs 0,003 = 8381
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